0O N OO~ WN =

N [ B BN
WN = o ®

R

| ©@ oo N ag phliwNd —

IMRCAMNS A —F Sa=F)—X pEEx

SR—1 | SR—2 | SR-3

BK1 sz mR757 224 | 3017 | 512

seLt sguL TTOM RCFEZX T-XT

(HFEEH) 0& 0& 0%

x x x

v v v
IMRCAMW L —F Sa=Fl)—X RHEE

SR—17 SR—2 SR—3

BK? 332 &5 224 | 317 | 512

saLE amuE TTOM RCFEX T-XT

(HEEH) 0& 0& 0%

x T Z<

v kv kv

IMRCAMS LG —F Sa=F)—X piEE

SR—17 SR—2 SR—3

BFF1 son &5 224 | 317 | 512

saLE amuE TTOM RCFEX T-XT

(LHEE#) 45 3& 45

A IE EMZ-SPORTS - 20 15
&8 HE ACK 20 - 12
B 8 AMSE I 10 15 -
AR 8% RTCR - _ _
HE Ei# AMSE I 12 R -
R EX A EASC - _ _
H# J9AKER | FUKUROU - - 20
Bt R RC-K% 15 - _
MR ZEth AMSE I% - - -
Ik Z=F AMSE IF - - 10
AT & RTCR - _ _
Ak EB Qucc - _ _
=% W& RC-K% - - -
IMRCAMS L —F Sa=F)—X RiEE

SR—17 SR—2 SR—3

BFF2 sox &5 224 | 317 | 512

saLE amuE TTOM RCFEX T-XT

(LHEEH) 45 35 35
EX F5F QucC - - -
RE @AKES RC-K% - - 20
ME EEF CANTALOOP - 20 15
BHE FE—E |RASCAL - _ _
KA ACK R - _
[RE #%2 ACK 15 - _
WF =W ACK 20 - -
Ak EB Qucc - _ _
ERrRR g FUKUROU - - _
f=I12HEEA] | GRAVEL R R _
R’E A RCHER - R -
WA X TOBIUME - - R

SR—4 SR—5
6/30 8/18
RTCR | RC-X%
0% 0%
S =
04 04
v v
SR—4 SR—5
6/30 8/18
RTCR | RC-X%
0% 0%
S =
04 04
kv kv
SR—4 SR—5
6/30 8/18
RTCR | RC-X%
65 45
- 20
20 -
10 10
- 15
- 12
12 -
15 -
6 —
8 —
SR—4 SR—5
6/30 8/18
RTCR | RC-X%
55 55
12 20
8 8
20 15

15

10

12
10

SR—6

1027
RTCR
T-OM

S

SR—6

1027
RTCR
7-OM

(S

SR—6

1027
RTCR
7-OM

7E

SR—6
10/27
RTCR
T-OM

45
20
12
10

15

e 3y Ry

e 3 Ry

e 3 Ry

o
~N o

27
24
22
20
15
15
10
10

6

e 3 Ry

S
N

35
27
25
20
15
10

Kb Sy kS| emay

NE 2 ey

— et -t = N)NIN
® ® o o alaloN|s

8552 Eengy

27
25
20
15
10



/]

iz

© oo oG N =

— | —
- O

IMRCAMNS A —F Sa=F)—X pEEx

B-FR 5z

w®O
AR
R
#F
t&H
1l
55
tH
idm
BA
Fis

e
=
Eipe
/=)
A%
2

BB
B

(ES
m_
el

mEI37
IBLLE SHLLE
(LFEE#)

NEUTRAL
T-OM
RTCR
RAPS
TCF
RTCR
Desire
T-XT
chase
chase
TCF

SR—1

2724
T7-OM

Vi3

20
15
10
6
12

o A~

SR—2

317
RCFEZX

45

20
15
12
10

SR—3
5/12
T-XT

6-.4\

20
15
12

IMRCAMNS A —F Sa=F)—X pEE

B—4WD -5z

Ey>7
3BLIE 3L E
(HEEH)

SR—1

224
7-OM

0%

S

SR—2

3717
RCEEZX

0%

S

SR—38

5/12
T-XT

0%

S

SR—4 SR—5
6/30 8/18
RTCR | RC-X%
5% 65
12 20
15 15
20 12
10 10
8 8
- 6
SR—4 SR—5
6/30 8/18
RTCR | RC-X%
0% 0%
= =
04 04
iva iva

SR—6
10/27
RTCR
T-OM

65
6
20
10
15
8

SR—6
1027
RTCR
7-OM

0%

Kt A

e 3y Ry

~
o

100

69
48
12
12
10
10

SQUELY

593 R &engy

34
12
12
10
10
8

kb o



